                        全真模拟试卷一
                    Section I  Listening Comprehension

                                     (30 minutes)

Directions:

      This section is designed to test your ability to understand spoken English. You will hear a selection of recorded materials and you must answer the questions that accompany them. There are THREE parts in this section, Part A, Part B and Part C.

      Remember, while you are doing the test, you should first put down your answers in your test booklet. At the end of the listening comprehension section, you will have 5 minutes to transfer all your answers from your test booklet to ANSWER SHEET 1.

      If you have any questions, you may raise your hand NOW as you will not be allowed to speak once the test has started.

      Now look at Part A in your test booklet.

 Part A

      For Questions 1—5, you will hear a radio announcement describing tonight's programs. While you listen ,fill out the table with the information you have heard. Some of the information has been given to you in the table. Write only 1 word in each numbered box. You will hear the recording twice. You now have 25 seconds to read the table below.
	Radio  Program  Announcement

	the day for “Wisdom People Talking
	
	 1

	time for “my favorite  discs”
	
	 2

	 Account by James Farmer of his travel by
	
	 3

	 Usual pop music on radio
	
	 4

	 Interviews with live pop stars from beginning
	
	 5


 Part B

      For Questions 6—10, you will hear a passage about lonelines. While you listen, complete the sentences and answer the questions. Use not more than 3 words for each answer. You will hear the Tecording twice.

You now have 25 seconds to rend the sentences and the question below.

	
	6


 Many people can remember feeling very lonely    
when we were                                    
	
	7


The feeling of loneliness is very difficult to

	
	8


 In order to survive, we all put on a       
	
	9


 It is easy to get the feeling that everyone except

 you is making a full, rich and busy life in           
	
	10


Your destination is less

 Part C

       You will hear three dialogues or monologues. Before listening to each one, you will have 5 seconds to rend each of the questions which accompany it. While listening, answer each question by choosing A, B, C or D. After listening, you will have 10 seconds to check your answer to each question. You will hear each piece ONLY ONCE.

     Questions 11—13 are based on the following passage about the London Marathon. You now have 15 seconds to rend Questions 11—13.

      11. How many people applied but didn't run the race?—

          [A] 16,000.                       [B] 10,000.

          [C] 67,000.                       [D] 54,000.

      12. Which of the following is NOT true?

          [A] Most competitors did not finish the race within two hours.

          [B] Most competitors were interested in the race.

          [C] Most competitors were trying to run as fast as they could.

          [D] Most competitors wanted to know if they could run 26 miles.

      13. Where did one of the runners fall down?

          [A] 50 meters from the end.

          [B] 15 meters from the end.

          [C] 10 meters from the end.

          [D] 5 meters from the end.

    Questions 14—16 are based on the following broadcast. You now have 15 seconds to rend Questions 14—16.

      14. Which of the following is covered in BCD International programs?

           [A] Interviews with radio producers.

           [B] A large variety of pop songs.

         [C] News from the music library.

         [D] Stories about the good old days.

    15. Which program gives us the ideas behind the pop songs?

        [A] The History of Pop.

        [B] The Road to Music.

        [C] Pop Words.

        [D] About The Big Hits.

    16. For native speakers understanding English pop songs is

        [A] effortless.

        [B] impossible.

        [C] difficult.

        [D] unnecessary.

    Questions 17—20 are based on the following monologue about yawn. You now have 20 seconds to Read Questions 17—20.

   17. What's the main topic of the monologue?

        [A] Different animals' yawn.

       [B] Human's yawn.

       [C] Fish's yawn.

       [D] Social animals' yawn.

   18. What is the speaker's main point?  

       [A] Animals yawn for a number of reasons.

       [B] Yawning results only from fatigue of boredom.

       [C] Human yawns are the same as those of other animals.

       [D] Only social animals yawn.

   19. According to the speaker, when are hippos likely to yawn?

       [A] When they are swimming.

       [B] When they are quarreling.

       [C] When they are socializing.

       [D] When they are eating.

  20. What physiological reason for yawning is mentioned?

      [A] To exercise the jaw muscles.

      [B] To eliminate fatigue.

      [C] To get greater strength for attacking.

      [D] To gain more oxygen.

                         Section Ⅱ  Use of English

                                   ( 15 minutes)

    Rend the following text. Choose the best word for each numbered blank and mark A, B, C or D on AN SWER SHEET 1.

    Computers are now being pushed into schools. We know that multimedia will make   21   easy and fun. Children will happily learn from  22  characters while taught by expertly  23   software. Who needs teachers when you've got  24  education? These expensive toys are difficult to use in the classrooms and  25   extensive teacher training. Sure, kids love video games —   26   think of your own experience: can you   27   even one educational filmstrip of many years ago? I'll   28   you remember the two or three great teachers who made a   29   in your life.

      Then there's cyber business. We're promised   30   catalog shopping— just point and click for great deals. We'll order airline tickets  31   the network, book restaurants and negotiate sales  32    Stores will become obsolete. So how come my local mall does more   33   in an afternoon than the entire Internet  34   in a month? Even if there were a trustworthy way to  35  money over the Internet,  the network is   36   a most essential ingredient of trade and commerce: salespeople.

      What's absent from this electronic wonderland? People contact. Computers and networks   37   us from one another. A network chat line is a limp  38  for meeting friends over coffee. No interactive multimedia display comes  39  to the excitement of a  40  concert. This virtual reality where frustration is legion and where— in the holy names of Education and Progress — important aspects of human interactions are relentlessly devalued.

 21 [A] schoolwork       [B] exercise         [C] teamwork       [D] research

 22 [A] stimulated       [B] animated         [C] developed      [D] interested

 23 [A] guided           [B] prepared         [C] tailored       [D] sold

 24 [A]computer-aided   [B]computer-presented [C]computer- designed [D]computer-developed

 25 [A] promise           [B] introduce        [C] encourage        [D] require

 26 [A] but              [B]just               [C] and             [D] therefore

 27.[A] appreciate        [B] recall           [C] comment         [D] produce

 28. [A] recommend       [B] guess            [C] bet              [D] urge

 29. [A] result            [B] mark           [C] impression       [D] difference

 30. [A] immediate        [B] free            [C] versatile        [D] instant

 31. [A]over              [B] with            [C]by                [D]in

 32. [A]decision         [B]agreement         [C]contract          [D]plan

 33. [A] communication    [B] commerce        [C] business         [D] program

 34. [A]reserves         [B]handles         [C]subscribes       [D]transmits

35. [A] mail          [B] deposit        [C] send         [D] save

 36. [A] missing       [B] disappearing    [C] expelling   [D] retaining

 37. [A] dismantle        [B]confine      [C] discriminate     [D]isolate

 38. [A]occasion         [B]substitute     [C]change         [D] compromise

 39. [A]near          [B]up               [C] close         [D]back

 40. [A]1ife          [B] alive           [C] living        [D] live

                 Section Ⅲ  Reading Comprehension

                               (60 minutes)

Part A

      Read the following four texts. Answer the questions below each text by choosing A, B, C or D. Mark your answers on ANSWER SHEET 1.

Text 1

       A finding in recent years shows that men cannot manufacture blood as efficiently as women can. This makes surgery riskier for men. Because they do not breathe as often as women, men also need more oxygen. But men breathe more deeply and this exposes them to another risk. They draw more of the air when it is polluted.

      Men's bones are larger than women's and they are arranged somewhat differently. The feminine walk that evokes so many whistles is a matter of bone structure. Men have broader shoulders and a narrower pelvis, which makes them to stride out with no waste motion. A woman's wider pelvis, designed for childbearing, forces her to put more movement into each step she takes with the result that she displays a bit of a jiggle and sway as she walks.

      If you think a man is brave because he can climb a ladder to clean out the roof gutters, don't forget it is easier for him than for a woman. The angle at which a woman's thigh is joined to her knees makes climbing difficult for her, no matter whether it is a ladder or stairs or a mountain that she is tackling.

      A man's skin is thicker than a woman's and not nearly as soft. This prevents the sun's radiation from getting through, which is why men wrinkle less than women do. Women have a thin layer of fat just under the skin and there is a plus to this greater fat reserve. It acts as an invisible fur coat to keep a woman warmer in the winter. Women also stay cooler in summer. Because the fat layer helps insulate them against heat. Men's fat is distributed differently. And they do not have that layer of it underneath their skin. In fact, they have considerably less fat than women and more lean mass. 41 percent of a man's body is muscle compared to thirty-five percent for women, which means that men have more muscle power. When we mention strength, almost 90 percent of a man's weight is strength compared to about 50 percent of a woman's weight.

       The higher proportion of muscle to fat makes it easier for men to lose weight. Muscle bums up five more calories a pound than fat does just to maintain itself. So when a man wants - to loss weight, the pounds roll off much faster. For all men's muscularity they do not have the energy reserves women do. They have more start-up energy, but the fat tucked away in women's nooks and crannies provides a rich energy reserve that men lack.

      Cardiologists at the University of Alabama who tested healthy women on treadmills discovered that over the years the female capacity for exercise far exceeds the male capacity. A woman of sixty who is in good health can exercise up to 90 percent of what she could do when she was twenty. A man of sixty has only 60 percent left of his capacity as a twenty-year-old.

     41. That boys suffer more from air pollution can possibly be justified by the fact that

         [A] the male have larger bones than the female.

         [B] women can manufacture blood more efficiently than men.

         [C] men usually breathe more deeply than women.

         [D] women breathe as often as men.

     42. The different ways men and women move their body indicate that

         [A] bone structures in men and women are arranged differently.

         [B] women's bones are more ready to movement.

         [C] men always move their bodies with waste motions.

         [D] women is good at climbing upwards.

     43. It can be concluded from the passage that

         [A] men suffer more from sun's radiation than women do.

         [B] men will be more exhausting than women after long trip.

         [C] the higher proportion of fat in women's body makes them easier to lose weight.

         [D] an aged man can still exercise his body as he is young.

     44. The best title for above article is

         [A] "why men lack capacity for exercise over the years"

         [B] "how men's bones are arranged differently from women".

         [C] "studies on differences and similarities between men and women".

         [D] "men and women: some differences".

     45. Which of the following statements is NOT true according to the passage?

         [A] More oxygen needs to be prepared when a man is having surgery.

         [B] Man's courage has nothing to do with male's body structure.

         [C] A woman usually stays cooler in summer and warmer in winter.

         [D] It is easier for a man to lose his weight.

Text 2

      More than 30,000 drivers and passengers who seat in the front of the vehicles are killed or seriously injured each year. At a speed of only 30 miles per hour it is the same as falling from a third-floor building. Wearing a seat belt saves lives: it reduces your chance of death or serious injury by more than half.

      Therefore drivers or front seat passengers over 14 in most vehicles must wear a seat belt. If you do not, you will be fined up to ￡ 50.It will not be up to the drivers to make sure you wear your belt. But it will be the driver's responsibility to make sure that children under 14 do not ride in the front unless they are wearing a seat belt of some kind.

      However, when you're reversing your car, you do not have to wear a seat belt; or you are making a local delivery or collection using a special vehicle; r if you have a valid medical certificate which excuses you from wearing it. Make sure these circumstances apply to you before you decide not to wear your seat belt. Remember that you may be taken to court for not doing so, and you may be fined if you cannot prove that you have been excused from wearing it.

     46. How many people in front of the vehicles are killed or seriously injured every year?

         [A] 30,000.

         [B] 60,000.

         [C] Approximately 30,000.

         [D] Above 30,000.

    47. Wearing a seat belt in a vehicle

         [A] reduces road accidents to more than half.

         [B] saves lives while driving at a speed up to 30 miles per hour.

         [C] reduces the death rate in traffic accidents.

         [D] saves more than 15,000 lives each year.

    48. It is the driver's responsibility to

         [A] make the front seat passenger wear a seat belt.

         [B] make the front seat children under 14 wear a seat belt.

         [C] stop children riding in the front seat.

         [D] wear a seat belt each time he drives.

    49. According to the text, which of the following people riding in the front does NOT have to wear a seat belt?

         [A] Someone who is backing into a parking space.

         [B] Someone who is picking up the children from the local school.

         [C] Someone who is delivering invitation letters.

         [D] Someone who is under 14.

    50. For some people, it may be better

         [A] to wear a seat belt for health reasons.

         [B] not to wear a seat belt for health reasons.

         [C] to get a valid medical certificate before wearing a seat belt.

         [D] to pay a fine rather than wear a seat belt.

Text 3

    The first navigational lights in the New World were probably lanterns hung at harbor entrances.

      The first lighthouse was put up by the Massachusetts Bay Colony in 1716 on Little Brewster Island at the entrance to Boston Harbor. Paid for and maintained by "light dues" levied (征收) on ships, the original beacon was blown up in 1776. Until then there were only a dozen or so true lighthouse in the colonies.

      Little over a century later, there were 700 lighthouses.

      The first eight lanterns erected on the West Coast in the 1850's featured the same basic New England design: a Cape Cod dwelling with the tower rising from the center or standing close by. In New

     England and elsewhere, though, lighthouses reflected a variety of architectural styles. Since most stations in the Northeast were set up on rocky eminences (高处), enormous towers were not the rule.

      Some of them were made of stone and brick, others of wood or metal. Some of them stood on pilings or stilts; others were fastened to rock with iron rods. Farther south, from Maryland through the Florida

      Keys, the coast was low and sandy. It was often necessary to build tall towers there— massive structure like the majestic Cape Hatteras, North Carolina, lighthouse, which was lit in 1870. At 190 feet, it is the tallest brick lighthouse in the country.

     Notwithstanding differences in appearenced construction, most lighthouses in America shared several features: a light, living quarters, and sometimes a bell (or, later a foghorn). They also had quarters, and something else in common: a keeper and, usually, the keeper's family. The keeper's essential task was trimming the lantern wick (灯芯) in order to maintain a steady, bright flame. The earliest keepers came from every industry— they were seaman, farmers, mechanics, rough mill hands—and appointments were often handed out by local customs commissioners as political plums. After the administration of lighthouse was taken over in 1852 by the United States Lighthouse Board, and agency of the Treasury Department, the keeper corps gradually became highly professional.

            51. Which is the best title for the passage?

                [A] The Lighthouse on Little Brewster Island

                [B] The Life of a Lighthouse Keeper

                [C] Early Lighthouses in the United States

                [D] The Modem Profession of Lighthouse — Keeping

            52. Why does the author mention the Massachusetts Bay Colony?

                [A] It was the headquarters of the United States Lighthouse Board.

                [B] Many of the tallest lighthouses were built there.

                [C] The first lantern wicks were developed there.

                [D] The first lighthouse in North America was built there.

        53. It can be inferred from the passage that lighthouses in the Northeast did NOT need high towers

                because

                [A] ships there had high masts.

                [B] coastal waters were safe.

                [C] the coast was straight and unobstructed.

                [D] the lighthouses were built on high places.

            54. According to the passage, where can the tallest brick lighthouse in the United States be found?

        [A] Little Brewster Island.

        [B] The Florida Keys.

        [C] Cape Hatteras.

        [D] Cape Cod.

    55. It can be inferred from the passage that the Treasury Department, after assuming control of the

        lighthouse, improved which of the following?

        [A] The training of the lighthouse keepers.

        [B] The sturdiness of the lighthouses.

        [C] The visibility of the lights.

        [D] The locations of the lighthouses.

                                         Text 4

     In the late years of the nineteenth century, "capital" and "labour" were enlarging and perfecting their rival organisations on modem lines. Many old firms was replaced by a limited liability company with a bureaucracy of salaried managers. The change met the technical requirements of the new age by engaging a large professional element and prevented the decline in efficiency that so commonly spoiled the fortunes of family firms in the second and third generation after the energetic founders. It was moreover a step away from individual initiative, towards collectivism and municipal and state-owned business. The railway companies, though still private business managed for the benefit of shareholders, were very unlike old family business. Meanwhile the great municipalities went into business to supply lighting, trams and other services to the taxpayers.

     The growth of the limited liability company and municipal business had important consequences. Such large, impersonal manipulation of capital and industry greatly increased the numbers and importance of shareholders as a class, an element in national life representing irresponsible wealth detached from the land and the duties of the landowners; and almost equally detached from the responsible management of business. During the nineteenth century, America, Africa, India, Australia and parts of Europe were being developed by British capital, and British shareholders were thus enriched by the world's movement towards industrialisation Towns like Bournemouth and Eastbourne sprang up to house large "comfortable" classes who had retired on their incomes, and who had no relation to the rest of the community except that of drawing dividends and occasionally attending a shareholders' meeting to dictate their orders to the management. On the other hand "shareholding" meant leisure and freedom which was used by many of the later Victorians for the highest purpose of a great civilisation.

    The "shareholders" as such had no knowledge of the lives, thoughts or needs of employees in the company in which he held shares, and his influence on the relations of capital and labour was not good. he paid manager acting for the company was in more direct relation with the workers and their demands, but even he had seldom familiar personal knowledge of the workmen which the employer had often had under the more patriarchal system of the old family business. Indeed the mere size of operations and the numbers of workmen involved rendered such personal relations impossible. Fortunately, however, the increasing power and organisation of the trade unions, at least in all skilled trades, enabled the workmen to meet on equal terms the managers of the companies who employed them. The cruel discipline of the strike and lookout taught the two parties to respect each other's strength and understand the value of fair negotiation.

      56. The author says that old family firms

           [A] were ruined by the younger generations.

           [B] failed for lack of individual initiative.

           [C] lacked efficiency compared with modem companies.

           [D] were able to supply adequate services to taxpayers.

      57. The growth of limited liability companies resulted in

           [A] the separation of capital from management.

           [B] the ownership of capital by managers.

           [C] the emergence of capital and labour as two classes.

           [D] the participation of shareholders in land ownership.

       58. The text indicates that

           [A] some countries developed quickly because of the emergence of the limited liability company.

           [B] the tide of industralisation would wide benefited British shareholders greatly.

           [C] shareholders contributed a lot to the fast growth of the British economy.

           [D] the system of shareholding impaired the management of modem companies.

       59. We learn from the text that

            [A] shareholders often cast negative influence on the well-being of workers.

            [B] owners of traditional firm enjoyed a good relationship with their employees.

            [C] limited liability companies were too large to run smoothly.

            [D] trade unions had a positive role on workers and the management.

       60. The author appears to be very critical of

            [A] family firm owners. 

            [B] shareholders.

            [C] managers.

            [D] landowners.

 Part B

       Read the following text carefully and then translate the underlined segments into Chinese. Your translation should be written clearly on ANSWER SHEET 2.

       61) In a family where the roles of men and women are not sharply separated and where many household tasks are shared to a greater or lesser extent, notions of male superiority are hard to maintain. The pattern of sharing in tasks and in decisions makes for equality, and this in turn leads to further sharing. 62)In such a home, the growing boy and girl learn to accept that equality more easily than did their parents and to prepare more fully for participation in a world characterized by cooperation rather than by the "battle of the sexes".

       If the process goes too far and man's role is not regarded as important as before — and that has happened in some cases — we are as badly off as before, only in reverse.

     We should reassess the role of the man in the American family. We are getting a little tired of "Momism", but we don't want to change it into a "Neo-popism". What we need is the recognition that bringing up children invloves a partnership of equality. 63) There are signs that psychologists and specialists on the family are becoming more aware of the part men play and that they have decided that women should not receive all the credit, nor all the blame. We have almost given up saying that a woman's place is in the home. 64)We are beginning, however, to study man's place in the home and to insist that he does have a place in it. Nor is that place irrelevant to the healthy development of the child.65) The family is a cooperative enterprise for which it is difficult to lay down rules, because each family member needs to work out its own ways for solving its own problems.

      Excessive authoritarianism has unhappy consequences, whether it wears skirts or trousers, and the ideal of equal fights and equal responsibilities is relevant not only to a healthy democracy, but also to a healthy family.

Section Ⅳ  Writing

(35 minutes)

     66. The Spring Festival is a traditional festival in China, and Chinese have been accustomed to celebrating it at home. But now more and more people choose to travel during this most important festival.

   Here is a discussion on this topic:

   (1) Some people think it is more interesting to travel during the Spring Festival.

   (2) Other people think it is better to stay at home with their families during the Spring Festival.

     (3) My opinion on this topic.

     In your essay, you should use the three pieces of information mentioned above.

    You should write 160 - 200 words on ANSWER SHEET 2.

  参考答案及解析

    [答案]

  全真模拟试卷(一)

  1．Thursday    2．7:30    3．bicycle

  4．1           5．6:00   6．surrounded by people

  7．get rid of  8．show of  sel-confidenee    9．a big city

  10．exciting and fulfilling

  11．D    12．C    13．A    14．B    15．D    16．C    17．A    18．A    19．B    20．D

  1～20题解析略。

  21．【答案】A    【解析】schoolwork“功课，课堂作业”，一般泛指学校里的功课作业；exercise“练习”； teamwork“团队合作”；research“研究”。从上下文我们可以推断这里泛指学校里的一切作业功课。exercise过于具体，teamwork和research意思上不符。故应选A。

  22．【答案】B    【解析】animate“使有生气”，animated“栩栩如生的”，animated cartoon动画片。character除了最常用的表示“人的性格、气质”外，“字体、符号、人物”也很常用，如 Chinese character汉字、方块字。本句意为孩子们愿意多媒体中的动画字或人物来教他们学习。stimulate“刺激、激励”，如：stimulate the economy刺激经济。 developed“发展的”；interested“有趣的”。故应选B。

  23．【答案】C    【解析】tailor“裁缝”，tailored“专门量身订做的”。本句意为由专家专门量身订做的软件。故应选C。

  24．【答案】A    【解析】computer-aided“由电脑辅助的”。本句意为既然你已经接受了由电脑辅助的教育，那谁还需要老师呢?computer-presented“以电脑方式呈现的”；computer -designed“电脑设计的”；computer-developed“电脑开发的”。故应选A。

  25．【答案】D    【解析】require“需要”。本句意为这些昂贵的设备对孩子们来说用起来很困难，需要老师做大量的指导。promise“承诺，答应”；introduce“介绍”；encourage“鼓励”。故应选D。

  26．【答案】B    【解析】just“就”。本句意为当然，孩子们喜欢电子游戏——就想想从前的自己。故应选B。

  27．【答案】B    【解析】recall“回想”。本句意为你还能回想起多年前的教学影带吗，哪怕只有一部。 appreciate“欣赏”，如I appreciated his abilities in this job．我欣赏他的工作能力。“感激”，如I appreciated his help我感谢他的帮助。comment“评论”，如No comment无可奉告。produce“生产”。故应选B。

  28．【答案】C    【解析】bet“打赌”。本句意为我敢打赌你肯定记得让你的生活产生了重大变化的那么两三个好老师。recommend“推荐”，如Can you recommend me a good book?可以推荐我一本好书吗?urge“极力主张，强烈要求”，如(on)He urged on his wife to quit her job．他强烈要求妻子放弃工作。

  29．【答案】D    【解析】make a (big) difference“不同，发生变化”。尽管make和4个答案都可以搭配，但从词义来看应选difference。make a result产生结果；make a mark作个标记； make an impression on给…留下印象。故应选D。

  30．【答案】D    【解析】instant“即时的，快速的”，如instant coffee/noodle“速溶咖啡/即食方便面”， instant shopping即时购物；instant catalog shopping就表示电脑上列出了各种目录清单，点一下购物就完成。本句意为网络保证了我们购物的方便，只要查一下目录，轻轻一点，交易就在瞬间完成。immediate表示动作的快速，而instant表示动作持续时间的短暂。versatile“多才多艺的，多功能的”，如versatile performer多才多艺的演员。故应选D。

  31．【答案】A    【解析】over the network固定搭配，下文已经给出了over the internet由此可以推测，故应选A。

  32．【答案】C    【解析】negotiate a contract洽谈合同，固定搭配。agreement也有合同、协议的意思，但我们常说enter into an agreement．达成协议。故应选C。

   33．【答案】C    【解析】do business做生意。commerce也有生意、贸易的意思，但不用do。故应选C。

  34．【答案】B    【解析】handle=deal with sth．“处理某事”。handle business处理生意；handle difficulties对付困难；reserve"预定”。reserve a table at a restaurant在饭店预定张桌子； reserve your strength保留力气；transmit“传播”，如transmit a signal发送送号； subscribe“注册”。故应选C。

  35．【答案】C    【解析】mail“信件”，后面已经提到了over the internet所以肯定不能用mail。deposit“储存、储蓄存款”。从词义来看只能选send。本句意为即使互联网能提供可靠的方式来转移资金，但是网上缺少一个最主要的商贸元素：营销人员。故应选C。

  36．【答案】A    【解析】missing“缺少”；expelling“强迫的，迫使的”；retaining“保留的”，从题意来看只能选missing。故应选A。

  37．【答案】D    【解析】isolate“使…隔离”。本句意为电脑和互联网把我们和其他人隔离开了。dismantle“拆成零块”；confine“把…局限于，监禁”；discriminate“歧视”。故应选D。

  38．【答案】B    【解析】substitute“替代品”。本句意为网上的聊天仅仅是不能和朋友见面喝咖啡的一种无可奈何的替代品。occasion“场合”；compromise“妥协、让步”。故应选B。

  39．【答案】B    【解析】come up to“达到”，固定词组。本句意为多媒体展示的效果再好也永远不可能达到现场音乐会的效果，让人那么激动。故应选B。

  40．【答案】D    【解析】live“实况的，现场的”。故应选D。

  41．【答案】C    【解析】从文章第一段最后一句可知：But men breathe more deeply and this exposes them to another risk．They draw more of the air when it is polluted．故应选C。

  42．【答案】A    【解析】文章第二段开头：Men's bones are larger than women's and they are arranged some- what differently．然后下面列举了男人和女人各自移动身体的不同，归根到底是因为他们骨骼构造的不同。故应选A。

  43．【答案】B    【解析】从文章可得出结论：选项A：男人受的阳光辐射比女人更多。这显然是错的，恰恰相反。选项B：长途旅行后男人比女人更容易疲劳，因为男人的肌肉占的比例大。选项C：女人身体里的脂肪比例高，所以女人减肥更容易，这显然是错的。选项D：男人老了以后还可以像年轻时一样运动，这显然不正确，最后一段说男人只能做年轻时运动量的60％，而女人能作90％。故应选B

  44．【答案】D    【解析】由文章的内容来看，答案只能在选项C和选项D中选，选项C对男人和女人的相同和不同的研究。文章只说了不同，没提相同，所以D最合适。故应选D。

  45．【答案】B    【解析】根据文章判断哪个是错的?选项A：男人做手术时需要准备更多氧气。正确，第一段提到了。选项B：男人的勇气和身体结构无关。错误，文章第三段第一句提到了don't forget it is easier for him than for a woman．接着说了女人身体结构对于爬高的不利。选项C：女人夏天凉快冬天暖和。正确，第四段中间部分提到了。选项D：男人减肥容易。正确，男人脂肪少。故应选B。

  46．【答案】D    【解析】more than=above“多于”；approximately=about“大约”。故应选D。

  47．【答案】C    【解析】在车上戴安全带：your chance of death or serious injury by more than half戴安全带可以减少50％的死亡率或重伤几率。选项A：不是公路事故而是死亡率或重伤几率。选项B：以30公里/小时开车时能挽救人的生命。与文章不符，本文是说30公里/小时以上必须戴安全带。选项D：每年挽救15，000人的生命。故应选C。

  48．【答案】B    【解析】从第二段最后一句话可知：But it will be the driver's responsibity to make sure that children under 14 do not ride in the front unless they are wearing a seat belt of some kind。故应选B。

  49．【答案】A    【解析】第三段第一句话reversing your car=backing into a parking space倒车。故应选A。

  50．【答案】B    【解析】之所以人们要使用医院证明，就是因为他们健康方面的原因，不能戴安全带。故应选B。

  51．【答案】C    【解析】选项A：小布鲁斯特岛的灯塔这只是第一个灯塔建立的地方。选项B和D：灯塔看守人全文只在最后提到了。故应选C。

  52．【答案】D    【解析】第一段第二行：The first lighthouse was put up by the Massachusetts Bay Colony in 1716 on little Brewster Island at the entrance to Boston Harbor。故应选D。

  53．【答案】D    【解析】第三段第三和四行：Eminences=high places。故应选D。

  54．【答案】C    【解析】第二段最后一句：It was often necessary to build tall towers there．．．the tallest brick

 lighthouse in the country．故应选C。

  55．【答案】A    【解析】从最后两个词highly professional高度专业化，可推测是提高了灯塔看守人的训练。故应选A。

  56．【答案】C    【解析】作者说旧式的家族企业：选项A：旧式的家族企业被年轻一代毁掉。文章第一段是提到了，但这不是文章所要说的重点。文章主要在谈有限责任公司和股东。选项B：旧式的家族企业缺少个人主动性。很显然不正确，旧式的家族企业的创始人是积极肯干的，只是第二代第三代缺少激情。选项C：旧式的家族企业和现代企业相比缺少效率，正确。选项D：能向纳税人提供全方位的服务和设施。这不是旧式的家族企业，而是市政府等公益部门的主要职责。故应选C。

  57．【答案】A    【解析】有限责任公司导致资金和管理分离。这也就是为什么会产生股东的原因。股东只是投入资金，就所投资金分享利益和承担风险，不参加管理。故应选A。

  58．【答案】B    【解析】文章暗示选项A：因为有限公司的出现，所以一些国家发展的很快。文章没提到。文章只是说美国、非洲、印度、澳大利亚等一些国家是借助英国的资金发展起来的。选项B：工业化的浪潮让英国的股东们大大受益。文章第二段中间部分提到了：and British shareholders were thus enriched by the world's movement to- wards industrialization。选项C：股东对英国经济的快速增长贡献很大。文章没有说，只说英国的股东们从对那些国家的投资中大大受益。选项D：股份制这种形式不利于现代公司的管理。错误，正因为它最适合，所以现在才会盛行。故应选B。

  59．【答案】D    【解析】从文章可知：

  选项A：股东通常对工人的福利产生负面影响。文章没有说，只是在最后一段的首句说他对劳资之间的关系影响不好：and his influence on the relations of capital and labour was not good。

  选项B：传统家庭作坊式的业主和雇员的关系很好。文章没说，只是表示他们很熟悉自己的雇工。

  选项C：有限责任公司太大，不能顺利运转。很显然错的。选项D：行会对解决劳资之间的关系起积极主动作用。正确，从文章最后几行可知。故应选D。

  60．【答案】B    【解析】文章从传统家族企业谈到现代的有限责任公司主要就是为了引出股东的话题，从股东发展的由来到他所起的作用，说他是有钱有闲，不问正事的阶层，可见作者对其是持批评态度的。故应选B。

  61．【解析】本句是一个由两个长状语从句修饰一个简单状语的简单句。两个where后的长句都是修饰状语in a family的。因此决定了必须译成“在…，…的家庭里”。sharply separated严格、明显的分开；household task家务活；to an extent在某种程度上；notion“观念”；male superiority“男尊 (女卑)”；maintain“保持”。

    【译文】在男女角色没有明显分工，家务事或多或少由双方共同承担的家庭中，男性优越的观点是很难维持的。

  62．【解析】本句是一个带两个长宾语的简单句。To accept．．．and to prepare．．．是两个并列的宾语。第一个宾语带的是一个复合句more．．．than句型。第二个宾语后带了很多修饰成分，主干是 prepare participation in a world，characterized．．．battle of sexes都是修饰in a world的。

    【译文】在这种家庭长大的孩子比他们的父母更容易学会接受平等的观念，会做好充分准备去参与一个合作的，而不是“性别大战”的社会。

  63．【解析】这是一个两个并列同位语从句组成的复合句。That psychologists．．．the part men play和and that they have decided．．．nor all the blame是并列结构。sign“迹象”；be aware of“知道”； receive credit“受到表扬”。

    【译文】有一些迹象表明：有关家庭方面的心理学家和专家意识到了男性在家庭中的作用，他们认为女性既不应该受到所有的称赞，也不应该受到所有的指责。

  64．【解析】nor“也不”，irrelevant“无关联的”。这是一个双重否定表肯定。

    【译文】然而，我们开始研究男性在家庭中的地位，并坚持男性在家庭中占有一席之地的观点，男性在家庭中的地位与孩子的健康成长不无关联。

  65．【解析】前半部分是一个定语从句，lay down rules for给……制定规则。先行词是cooperative enterprise合作集体；work out找出。

    【译文】家庭是一个合作的集体，很难制定一些制度，因为家庭中的每一个人都需要找出解决自家问题的办法。

     66. One possible version:

     The Spring Festival is the most important festival in China, and Chinese have been accustomed to celebrating it at home. However, with the improved living standard and the changed living style, people have changed their ways of spending the Spring Festival.

     In recent years, more and more people choose to travel to celebrate this special festival. And these people expect to relax themselves by visiting some interesting places or scenic spots with their family members. Through the trips, they can learn more about the customs and culture in different places, which will undoubtedly broaden their scope of knowledge. Above all, they may avoid visiting their relatives and being visited by their friends, and thus they may enjoy much freedom. In their opinion, the best way of expressing their wishes to their friends is to make a phone call.

      But other people still prefer to stay at home during the Spring Festival. After all, the Spring Festival is a Chinese traditional festival when all the family members should have a reunion. When the Spring Festival is drawing near, the family members will come back to their family no matter how far away they are working or studying from their home. k is customary to prepare some delicious foods and invite relatives to dinner during the holidays. At other times, people are all busy with their work or study ,so they hope to take advantage of this long vacation to communicate with each other.

As far as I'm concerned, I don't think it quite necessary to determine which way is better. Everyone has the right to choose his favorite way.
   听力部分录音材料

    [听力]

    全真模拟试卷（一）

 Questions 1—5:

     Announcer: And now here are some of the things you can listen to this evening here on Radio 3.

     Our Thursday play is at nine and is called Wisdom People Talking; it's about a small group of old age men sitting in a social club remembering the past. Before at 7:30 we have "my favorite disc" in which Jenny Lindley talks about the records that influenced her musical career. At 10:30 there is an account by James Farmer of his travels in the Middle East by bicycle and at 11:00 there is a service from St. Panl's. On radio 4 the big event of the evening is the broadcast of La Traviata from the Albert Hall; it's at 9:00 and it has Felicity Newcombe in the major role. The interval talk at 9:15 is Peter Morris remembering his adventures while fishing in Scotland. Radio 1 has as usual continuous pop music; from 6 to 8 it's the Tommy Brian Show with interviews with live pop stars; from 10 till midnight it's Joe Newland with his friend. So if you are in for the evening or listening on the car radio there should be some- thing for you; stay tuned.

 Questions 6—10:

    Loneliness is a curious thing. Many people Can remember feeling most lonely when they were not in fact alone at all, but when they were surrounded by people. Everyone of us has experienced, at some time, that utter sense of isolation that comes over you when you are at a party or an audience at a lecture. It suddenly seems to you as if everybody knows everybody else; everybody is sure of himself; everybody, i.e. ,except you.

     This feeling of loneliness which can come over you when you are in a crowd is very difficult to overcome. People living alone are advised to deal with their loneliness by joining a club or a society, by going out and meeting people. Does this really help?

     There are no easy solutions. Your first day at work, or at a new school or university, is a typical situation in which you are likely to feel lonely. You feel that everybody else is very confident and knows what to do, but you are adrift and helpless. The fact of the matter is, that in order to survive, we all put on a show of self-confidence to hide our uncertainties and doubts.

     In a big city it is particularly easy to get the feeling that everybody except you is leading a full, rich and busy life. Everybody is going somewhere, and you tend to assume that they are going somewhere nice and interesting, whereas your destination is less exciting and fulfilling.

 Questions 11—13:

     A million people came to London on May 9th to watch 16,000 people nm 26 miles. The event was the London Marathon, which looks like one of the fastest growing sports in the 1980s.

     70,000 people had applied to take part in the race, but the numbers had to be restricted to 16,000 for safety reasons. Running through a big and friendly crowd which lined the whole course, the competitors followed a route which took them through the center of London, finishing near the House of Parliament.

     Well, they weren't really competitors. The fastest man finished in 2 hours 9 minutes, and the fastest woman in 2 hours 29 — but most people weren't trying to beat the clock, they were just interested in seeing if they could actually run 26 miles.

     However, one of the runners collapsed 50 meters from the end: The crowd yelled encouragement and applauded as three times he tried to stand up — and three times fell down. Then, on his fourth attempt, he managed to stand up, and finished the race. Another was so exhausted that he crossed the finish line on his hands and knees.

 Questions 14—16:

     Good evening. You are listening to Pop World of BCD International. I'm Sally Brown. Today, we are going to hear several current hits of the world's most popular artists.

     Well, at the beginning, I would like to say a few words to my dear listeners who are not very familiar with this program.

    Because many people want to listen to and understand pop songs, radio producers at BCD International have made hundreds of programs over the years. We not only have access to the stars of the music world, but we have a vast library of "golden oldish" Classics, as well as the "latest releases".

    For those of you who like a bit of background with your favorite music — there's The History of Pop or The Road to Music. These two series bring you the language of pop music and information about the periods and the artists.

    If you want to hear from the artists themselves ,there's a new series called About The Big Hits. This is based on interviews with popular singers and songwriters. They speak to us about the meaning and ideas behind their songs.

    If you want to understand the words to the big music hits, pop Words is the program for you. After all, it's hard enough for native English speakers to understand most pop songs — so, if English isn't your first language, you shouldn't be surprised ff the words to many songs leave you in the dark. It was to address exactly this problem that BCD International started broadcasting Pop Words just over 23 years ago... [ fade out]

    Questions 17—20:

    Today's discussion is about a common animal reaction — the yawning. The dictionary defines a yawn as "an involuntary reaction to fatigue or boredom". That's definitely true for human yawns but not necessarily for animal yawns. The same action, the yawn, can have quite different meanings in different species.

    For instance, some animals yawn to intimidate intruders on their territory. Fish and lizards are examples of this. Hippos use yawns when they want to resolve a quarrel. Observers have seen two hippos yawn at each other for as long as two hours before they stop quarreling.

    As for social animals like baboons or lions _ they yawn to set up the pecking order within social groups, and lions often yawn to calm social tensions. Sometimes these animals yawn for a strictly physiological reason __ that is to increase oxygen levels. And curiously enough, when they yawn for a physical reason like that, they do what men do __ they try to stifle the yawn by looking away or by covering their mouths.

